Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4760/1/9/74559

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1105909	RINA MARKANDE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1515	1515	7215
660935	PRITI NO NAME	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1545	1545	6675
1012399	NAGINA NO NAME	Female	B. Com./Commerce/I	Fresh	10	570	5700	0	1515	1515	7215
1221537	PRIYANKA DAHARIYA	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1545	1545	7245
1015939	DILESHWARI NO NAME	Female	B. A./Arts/I	Fresh	10	570	5700	0	1515	1515	7215
1221947	ANITA KOSRE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1515	1515	7215
173763	ASHWANI KUMAR NAGE	Male	M. Sc./Chemistry/I	Fresh	9	530	4770	0	5613	5613	10383
202861	PRAMILA CHELAK	Female	M. Sc./Chemistry/I	Fresh	10	530	5300	0	5613	5613	10913
348434	MUKESH KUMAR	Male	M. Sc./Chemistry/I	Fresh	10	530	5300	0	5613	5613	10913
1226571	UMESHWARI TANDAN	Female	M. A./Pol. Science/I	Fresh	10	530	5300	0	1855	1855	7155
610079	GEETANJALI SATNAMI	Female	M. Sc./Chemistry/I	Fresh	9	530	4770	0	5613	5613	10383
539321	KHOMESHWARI BANDHE	Female	M. Sc./Chemistry/I	Fresh	10	530	5300	0	5613	5613	10913
1233028	KALPANA RATRE	Female	M. Sc./Chemistry/I	Fresh	10	530	5300	0	5613	5613	10913
935012	MOHESH KUMAR KURRE	Male	M. Sc./Botany/I	Fresh	10	530	5300	0	5613	5613	10913
412879	AARTI NO NAME	Female	PGDCA/Computer Application/I	Fresh	9	530	4770	0	8613	8613	13383
1225246	SARITA KHUTIYARE	Female	PGDCA/Computer Application/I	Fresh	10	530	5300	0	8613	8613	13913

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : (Signature & Seal

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4760/1/9/74559

Sanction Date : 06/01/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
538540	HEMANT KUMAR NO NAME	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	0	8613	8613	13913
545565	MANJUSA SONWANI	Female	PGDCA/Computer Application/I	Fresh	9	530	4770	0	8613	8613	13383
984342	PREMPRAKASH NO	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	0	8613	8613	13913
1232953	AARTI BANJARE	Female	B. Sc./Science/I	Fresh	9	570	5130	0	1545	1545	6675
870011	MONIKA PATIL	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1545	1545	4245
1015932	AASHA NO NAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1023972	TRIPTI CHATURVEDI	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1221557	BHAGYAWATI JANGDE	Female	B. Sc./Science/I	Fresh	10	570	5700	0	1545	1545	7245
1228553	SARASWATI BANJARE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
906724	PRIYA BNDHEL	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1015390	PRITI NO NAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1011758	HEERA BANJARE	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1515	1515	4515
1223846	NANDANI KURRE	Female	B. Com./Commerce/I	Fresh	10	570	5700	0	1515	1515	7215
1235177	NETRANI DESHLAHRE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1239708	LAKSHMI NO NAME	Female	B. Com./Commerce/I	Fresh	10	300	3000	0	1515	1515	4515
969004	MENKA NONAME	Female	B. Sc./Science/I	Fresh	9	300	2700	0	1545	1545	4245

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4760/1/9/74559

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1233434	DHANANJAY KUMAR KHEVAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
214097	TAMESHWAR NONAME	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1235750	BYASNARAYAN NO NAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1235574	SHANKAR NO NAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1239025	TIKESHWAR SONWANI	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1237991	RANJEET KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
786357	BEER SINGH	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1234561	TOP SINGH	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1248129	JYOTI BANJARE	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
856945	HARISH NO NAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1247438	LOKESHWAR KUMAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1259134	Mahesh Kumar	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1276041	BHANUPRATAP SANGE	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1247217	RIKASH MAHILWAR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1090914	HEMESHWAR KUMAR NO NAME	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1238478	DINESH NO NAMnitE	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1247794	ANAND KUMAR	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1515	1515	4515
917622	BHUPENDRA KUMAR NO NAME	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545

Declaration:

Place :

Date:

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric SC Scholarship

Category: SC Sanction Number: N/6/4760/1/9/74559

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1235877	BHEENU MARKANDE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
468553	GAYATRI SATNAMI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
949353	HIRMANI NONAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1223139	HARSHPRABHA MAHILANGE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1230173	REEMA NO NAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1234024	CHANDANI CHELAK	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1000608	POOJA NONAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1055842	PINKI NO NAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1057140	PRIYANKA MANHARE	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
814508	TULESHWAREE NO NAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1236454	TIKESHWARI KHUTEL	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1291060	TRILOCHAN NO NAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
697077	SEEMA NONAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1229177	SANTOSH KUMAR	Male	PGDCA/Computer Application/I	Fresh	10	530	5300	0	8613	8613	13913
1289889	SEEMA MANHARE	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1236650	DAMINEE GOYAL	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1012794	MINAKSHEE NO NAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: N/6/4760/1/9/74559

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1015856	UMESHWARI NO NAME	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1234557	MAMTA BANJARE	Female	B. A./Arts/I	Fresh	10	570	5700	0	1515	1515	7215
1240661	ANJU CHHEKAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1289815	HEMRAJ NO NAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
	OIS REMIKAS NO NAME Male B. A./AITS/I FIESTI						266540	0	179599	179599	446139

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/6/4760/1/9/74545

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
276368	KIRAN NO NAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
836870	TAKESHWARI NA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1515	1515	4215
1241191	NOHAR LAL NA	Male	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
143404	AMESHWARI DHIDHI	Female	M. Sc./Botany/III	Renewal	10	530	5300	0	5613	5613	10913
271008	Shivsankar No Name	Male	M. Sc./Botany/II	Renewal	10	530	5300	0	5613	5613	10913
211904	RANJEETA BARLE	Female	M. Sc./Chemistry/II	Renewal	10	530	5300	0	5613	5613	10913
1121185	GUNJA RATRE	Female	M. Sc./Botany/II	Renewal	10	530	5300	0	5613	5613	10913
515335	DIPA NO NAME	Female	M. Sc./Botany/II	Renewal	10	530	5300	0	5613	5613	10913
432545	DIKESHWARI NA	Female	M. A./Pol. Science/II	Renewal	10	530	5300	0	1855	1855	7155
571030	KAMNI KURRE	Female	M. A./Hindi/II	Renewal	10	530	5300	0	4613	4613	9913
1118671	TULESHWARI DONDE	Female	B. Com./Commerce/II	Renewal	10	570	5700	0	1515	1515	7215
660328	NEETA NO NAME	Female	B. Com./Commerce/II	Renewal	10	570	5700	0	1515	1515	7215
450392	PADMANI BHARDWAJ	Female	B. Sc./Science/III	Renewal	9	570	5130	0	1515	1515	6645
836429	BHUPESHWARI NO NAME	Female	B. Sc./Science/II	Renewal	9	570	5130	0	1545	1545	6675
1112429	GEETA SONWANI	Female	B. Com./Commerce/II	Renewal	10	570	5700	0	1515	1515	7215
515836	teneshwari banjare	Female	B. A./Arts/II	Renewal	8	300	2400	0	1515	1515	3915
278425	KISHOR KUMAR NO NAME	Male	B. Com./Commerce/III	Renewal	10	300	3000	0	1515	1515	4515

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship State: Government of Chhattisgarh

Category: SC Sanction Number: R/6/4760/1/9/74545

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
712850	MAHESH KUMAR	Male	B. Sc./Science/II	Renewal	9	300	2700	0	1545	1545	4245
220679	INDRAJEET NONAME	Male	B. Sc./Science/II	Renewal	9	300	2700	0	1545	1545	4245
712970	NETRAM NO NAME	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1545	1545	4545
1245680	MANISH KUMAR KOSARIYA	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	1515	1515	4515
277425	KAMESH NO NAME	Male	B. Com./Commerce/III	Renewal	10	300	3000	0	1515	1515	4515
1226203	SUNIL KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
1255824	DEVVRAT NO NAME	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
249393	CHHATTAR SINGH NONAME	Male	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
320189	MANI RAM NONAME	Male	B. A./Arts/III	Renewal	9	300	2700	0	1515	1515	4215
673051	SUKHVILAS NONAME	Male	B. A./Arts/III	Renewal	9	300	2700	0	1515	1515	4215
348569	LAKSHMI KUMARI	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
635175	POONAM NO NAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
637718	BHOLESHWARI NO NAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
1145688	NOMIN NO NAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
1224027	CHITREKHA NONAME	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
125281	KHILESHWARI KOSRE	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
678138	Rupali Raj	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
219969	JAGRITI NONAME	Female	B. A./Arts/III	Renewal	9	300	2700	0	1515	1515	4215

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric SC Scholarship

Category: SC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: R/6/4760/1/9/74545

Sanction Date: 06/01/2017
Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
194960	VIJAY KUMAR NONAME	Male	B. A./Arts/III	Renewal	9	300	2700	0	1515	1515	4215
						Total :	131660	0	78738	78738	210398

Declaration:

Place :

Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

 Category:
 ST
 Sanction Number:
 N/6/4760/2/7/74425

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 17/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
219780	SANJAY NONAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
393081	SURAJ KUMAR NONAME	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
454706	Indumati No name	Female	M. Sc./Zoology/I	Fresh	10	530	5300	0	5613	5613	10913
631031	URVASHI NO NAME	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
658727	AJAY KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
909409	GEETA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
912751	SUBHASH KUMAR NO NAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
969065	NEHA NETAM	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
971805	DHANENDRA KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
986229	GAJENDRA KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1011680	GEETIKA NETAM	Female	M. Sc./Botany/I	Fresh	10	530	5300	0	5613	5613	10913
1225627	PUSHPENDRA KUMAR THAKUR	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1225732	HARISH KUMAR DHRUWEY	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1235221	BIRENDRA KUMAR THAKUR	Male	B. Com./Commerce/I	Fresh	10	300	3000	0	1515	1515	4515
1235162	KHUMESH NA	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1248238	NAGENDRA KUMAR NA	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	1515	1515	4215
1248402	MANISH KUMAR NA	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

Category: ST Sanction Number: N/6/4760/2/7/74425

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 17/02/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1241120	NARENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1515	1515	4215
1247049	GOPI CHNAD NA	Male	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1247637	LAKESHWAR NA	Male	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1075258	KHILESHWARI XXXXXXX	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1248291	RITESHWARI NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1267768	LOKESHWARI THAKUR	Female	B. Sc./Science/I	Fresh	10	300	3000	0	1545	1545	4545
1275114	RUPA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1246962	RENUKA NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1246849	JANKI NA	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1247978	RESHAMA THAKUR	Female	B. A./Arts/I	Fresh	10	300	3000	0	1515	1515	4515
1119203	PARVATI THAKUR	Female	M. A./Sociology/I	Fresh	10	530	5300	0	1855	1855	7155
						Total :	90000	0	51136	51136	141136

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric ST Scholarship State: Government of Chhattisgarh

 Category:
 ST
 Sanction Number:
 R/6/4760/2/7/74426

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
129545	VED KUMAR DHRUW	Male	M. Sc./Zoology/II	Renewal	10	530	5300	0	5613	5613	10913
372832	AMRITA NO NAME	Female	B. Sc./Science/III	Renewal	10	570	5700	0	1545	1545	7245
512244	KHEMLATA NO NAME	Female	M. Sc./Zoology/III	Renewal	10	530	5300	0	5613	5613	10913
615876	RITU THAKUR	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1515	1515	4215
616378	YOGITA NO	Female	B. Com./Commerce/II	Renewal	10	300	3000	0	1515	1515	4515
631074	JAYA NO NAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1545	1545	4245
672978	PURAN KUMAR NONAME	Male	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
705116	GAYATREE NO NAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
899845	LOKESHWARI NA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1515	1515	4215
1040948	EKTA NO NAME	Female	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
1118196	YASHWANT THAKUR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1515	1515	4215
1121292	SHISHUPAL NA	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
1122533	DHULESHWARI THAKUR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1545	1545	4245
1145380	DOMENDRA KUMAR THAKUR	Male	B. Sc./Science/II	Renewal	9	300	2700	0	1545	1545	4245
1248787	DIVYA NA	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1545	1545	4545
1145532	VARSHA NO NAME	Female	B. Sc./Science/II	Renewal	9	300	2700	0	1545	1545	4245
				-		Total :	52300	0	32646	32646	84946

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
993105	HARSHA BANCHHOR	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	5613	5613	6513
938540	JAGRITI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
967708	NEHA NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1086196	TIKENDRA 000	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
971938	MILESH KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
891592	JITESHWARI NONAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
275877	SANJAY KUMAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1102334	LITESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
885394	DHANANJAY KUMAR NA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
924737	TIKARAM SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
924425	NAGENDRA SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1038410	JAYABHARTI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
959343	Deepak Kumar Dhiwar	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1234423	YAMINI NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
848758	POOJA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1059374	YOGESHWAREE YADAV	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
849174	OMBAI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4760/3/10/74482

Sanction Date: 06/01/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
891008	KHILAWAN NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
969244	DEEPIKA NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1079832	CHANDRAKANT NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
971895	MILESH KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1224199	JITENDRA kumar sinha	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1102417	GEETANJALI SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1102453	DHANESHWARI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
601266	DHANESHWARI NA	Female	PGDCA/Computer Application/I	Fresh	10	100	1000	0	8613	8613	9613
1102306	MAMATA N NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
862424	SANJAY KUMAR NA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1233346	RENU CHANDRAKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1022884	PREMIN NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1027766	MONIKA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1241025	RITESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
869436	RITESH NISHAD	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
928708	JITENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1238958	LEELA RAM	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Ctate: Coronnicit of Chinathogan

Sanction Number: N/6/4760/3/10/74482

Sanction Date: 06/01/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
936513	LEELADHAR XXXX	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1240861	MUKESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1233075	BHAWANA VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1226095	NILESH KUMAR SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1233221	DILESHWARI NIRMALKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1233813	DILESHWARI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1233647	GEETANJALI NAYAK	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
917163	BHUMIKA DHIWAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
554381	BHUMIKA SAHU	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
824680	BHUMIKA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
151912	CHANDRAKIRAN SAHU	Female	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
971924	CHANDRAPRAKASH NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1027824	CHANDRAKLA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1240194	CHANDRABHAN NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1264969	CHANDRASHEKHAR SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1225157	YOGESH KUMAR	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1234347	LEENA SINHA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place : Date :

Government of Chhattisgarh



State: Government of Chhattisgarh

Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name : Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date : 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1247432	LEENA SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
574346	KHILESHWARI YADU	Female	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
946862	KHILESHWARI NA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
983747	KHILESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1027214	KHILESHWARI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1053552	KHILESHWARI NISHAD	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1243262	KHILESHWARI SAHU	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
842860	BABULAL NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1017003	TOMIN NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
132710	DAMINI SAHU	Female	M. A./Hindi/I	Fresh	9	100	900	0	4613	4613	5513
1019221	DAMINI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1073454	DAMINI VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1079708	DAMINI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1232776	DAMINI NISHAD	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1026748	NUTAN NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1248952	NUTAN SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
972076	HARISH KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1233318	TRIPTI CHANDRAKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Number: N/6/4760/3/10/74482

Sanction Date: 06/01/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1062558	DURGESHWARI NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1233863	RANILAXMI SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1157550	RANI VERMA	Female	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
1026472	POONAM NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1079732	PRIYANKA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
573348	PRIYANKA DEWANGAN	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1099509	AARTI SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1253099	AARTI YADU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
241915	DEEPAK KUMAR SAHU	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	115	8613	8728	9728
946529	DEEPAK KUMAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
972033	DEEPAK KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
972050	PANNA LAL NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
132278	KANTI SAHU	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
286951	KULESHWAR SAHU	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	5613	5728	6628
384616	KESHARI NO NAME	Female	PGDCA/Computer Application/I	Fresh	10	100	1000	0	8613	8613	9613
453759	KIRAN NO NAME	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date: 06/01/2017

Sanction Number: N/6/4760/3/10/74482

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
483733	KAUSHILYA NO NAME	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855
503672	Kuldeep Verma	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	8613	8728	9628
544225	KUNTEE NA	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
280001	ANIL KUMAR NO NAME	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	8613	8728	9628
660811	AMIT KUMAR NONAME	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
949743	ANUPURNA NONAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1007517	ANIL KUMA R SINHA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1055809	ABHISHEK KUMAR	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1057833	ANIL KUMAR NO NAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1223037	ASHISH KUMAR	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1225672	AJAY KUMAR NISHAD	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1233631	ANIL KUMAR	Male	M. A./Hindi/I	Fresh	10	100	1000	115	4613	4728	5728
1235260	AJAY KUMAR	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1239014	ASAWAN NISHAD	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1245745	ABHISHEK SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1252009	ANJU XXXX	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

· ·

Sanction Date : 06/01/2017

Sanction Number: N/6/4760/3/10/74482

Applications Type : Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1253288	ANITA PRAJAPATI	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
286303	BHAGESHWARI SINHA	Female	M. Sc./Chemistry/I	Fresh	10	100	1000	0	5613	5613	6613
921234	BHUNESHWARI SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1005577	BHARTI SINHA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1016457	BHARTI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1027450	BHUMIKA VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1036292	BHARTI GAJENDRA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1059895	BISHAKHA NONAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1061246	BHUSHAN LAL NISHAD	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
1079810	BHUPESHWARI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1096618	BHUPENDRA NO NAME	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1102447	BHAVESH KUMAR SAHU	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1124352	BHUPENDRA KUMAR	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	8613	8728	9628
1184157	BHUPESHWARI NA	Female	M. A./Sociology/I	Fresh	9	100	900	0	1855	1855	2755
1189094	BHOJESHWAR PRASAD	Male	M. Sc./Zoology/I	Fresh	9	100	900	115	5613	5728	6628
1228936	Bhanu pratap Dewangan	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1246284	BHUPENDRA KUMAR PATEL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
146131	CHITRASEN SAHU	Male	M. Sc./Chemistry/I	Fresh	9	100	900	115	5613	5728	6628
607563	CHUMMAN LAL	Male	M. Sc./Chemistry/I	Fresh	10	100	1000	115	5613	5728	6728
885241	CHHAGAN LAL SINHA	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
964310	CHEMAN LAL	Male	M. Sc./Botany/I	Fresh	9	100	900	115	5613	5728	6628
1055861	CHITREKHA DHEWAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1233284	CHEETU CHANDRAKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
236053	DHANESHWAR NONAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
374066	DHALESHWARI NO NAME	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
442533	DEEPIKA NO NAME	Female	M. A./Hindi/I	Fresh	10	100	1000	0	4613	4613	5613
545005	DALI SAHU	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
780114	DHANESH KUMAR NO NAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
845391	DEVIKA NO NAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
855141	DEEPIKA NO NAME	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
883251	DEVENDRA KUMAR NA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1019289	DULESHWARI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1057141	DHEERAJ VERMA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330

Declaration:

Place :

(Signature & Seal of Head of the Institution) Name (Capital Leters):

Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
839643	DHARMENDRA KUMAR NO NAME	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
913450	DALLY SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
939646	DHATRI NISHAD	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1023599	DIKESHWAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1038537	DIVYA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1102451	DHARMENDRA KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1102318	DIPTI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1211045	DILESH KUMAR	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
1222682	DUMESHWARI VERMA	Female	PGDCA/Computer Application/I	Fresh	10	100	1000	0	8613	8613	9613
1223933	DEVANAND NONAME	Male	M. A./Hindi/I	Fresh	10	100	1000	115	4613	4728	5728
1232662	DANESHWARI DEWANGAN	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1232850	DIVYA VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1238753	DHANESHWAR PRASAD	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1237025	FALGUNI VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
328831	GITANJALI NONAME	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
383516	GITANJALI NA	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1855	1855	2755

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : (Signature & Seal o

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

State: Covernment of Chilattiogam

Sanction Date : 06/01/2017

Sanction Number: N/6/4760/3/10/74482

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
515882	GAYATRI PATEL	Female	PGDCA/Computer Application/I	Fresh	9	100	900	150	8613	8763	9663
568170	GAJENDRA KUMAR	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
601596	GEETA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
631715	GAURAV KUMAR	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
839490	GIRISH KUMAR NO NAME	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1079749	GAURI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1086763	GAGAN KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1224633	GOPESHWARI SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1290340	GIRISH PATEL	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1294774	GYAN DAS	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
717537	HIMANSHU NO NAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
849096	HITESHWARI NO NAME	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
890904	HIMANSHU NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
963628	HULESHWAR SAHU	Male	M. Sc./Botany/I	Fresh	10	100	1000	115	5613	5728	6728
1013141	HOMLATA NO NAME	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
1102341	HEMLATA PATEL	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1222801	HEMLATA SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

•

Sanction Date: 06/01/2017

Sanction Number: N/6/4760/3/10/74482

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1245199	HEMLATA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
670766	ISHWAR SONKAR	Male	M. Sc./Zoology/I	Fresh	10	100	1000	115	5613	5728	6728
417413	JAGARITI NO NAME	Female	M. A./Economics/I	Fresh	10	100	1000	0	4613	4613	5613
595418	JAYSREE NA	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855
922457	JANKI SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
936664	JAY KUMAR	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1053508	JYOTI NISHAD	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1222996	JHARANA GIR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1225038	JHAMESHWARI VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1225893	JAMUNA NIRMALKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1228290	JYOTI SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1239777	JHARANA NO NAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1194598	JHARANA SAHU	Female	M. Sc./Zoology/I	Fresh	10	100	1000	0	5613	5613	6613
554481	KALPANA VERMA	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
571290	KOUSHILYA NA	Female	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
847120	Kishor Sahu	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
912886	KEVALRAM NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
913296	KAJAL VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
916873	KAJAL CHANDRAKAR	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
946440	KUNDAN LAL NONAME	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
955145	KU. KSHAMTA MANIKPURI	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
971990	KAUSHAL NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1057162	KANCHAN SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1078924	KANCHAN VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1099513	KANCHAN SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1222674	KANCHAN SAHU	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1238488	KAUSHIL PAL	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
913585	KIRAN SAHU	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1244154	KHUSHBOO SINHA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1247361	KALYANI VERMA	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
1251371	KEVAL CHAND DEWANGAN	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1274187	KUMARI DAMINI	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
125146	LILESH KUMAR	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	1855	1970	2870
483720	LAXMI NO NAME	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
603681	LAXMI SAHU	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
906432	LAKSHMI VERMA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place : (Signature & Seal of Head of the Institution)

Name (Capital Leters) :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

otato: ooroninioni oi oimataogai

Sanction Number: N/6/4760/3/10/74482 Sanction Date: 06/01/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
967391	LAXMI NONAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1025327	LATA NO NAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1061260	LOKESH KUMAR	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
1231984	Lala Ram	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1245077	LUKESHWARI NISHAD	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1026997	LAXMI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1234661	LEELESHWAR SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1247528	LEKESHWARI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1249282	LOKENDRA KUMAR	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1302655	LOKESH KUMAR PATEL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
325463	MOTIM NONAME	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
498876	Manoj Kumar Dhiwar	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	8613	8728	9628
639475	MEENA NO	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
842918	MANISH KUMAR NO NAME	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
843868	MONIKA NO NAME	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
885517	MOHAN LAL CHAKRADHARI	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
935645	MANJU VERMA	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
969450	MONIKA NONAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1094353	MADHUBALA SAHU	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1102430	MANISHA PATEL	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1221772	MADHURI VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1226863	MINI VERMA	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
1231526	MANISH KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
1244773	MINAKSHI DEWANGAN	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
1251967	MANISH KUMAR VERMA	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	8613	8728	9628
1013849	MEENA NONAME	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
1016441	MALTI NO NAME	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1038252	MANISHA NO NAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1055777	MAMTA PATEL	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1073516	MADHU VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1121979	MADHURI BANCHHOR	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
1234691	MANJU SAHU	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place : (Signature & Seal of Head

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1269407	MONIKA VERMA	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
255842	NOMITA SAHU	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
716478	NIRAJ PATEL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
913816	NIRAJ DEWANGAN	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1006450	NOMIN SINHA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1014000	NEHA BHALE	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
1019052	NANDANI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1019583	NISHA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1073815	NIDHI VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1079052	NIDHI VINAYAK	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1094340	NAVEEN KUMAR SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1102446	NANDANI DEWANGAN	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1111520	NARAYAN KUMAR SAHU	Male	M. Sc./Botany/I	Fresh	9	100	900	115	5613	5728	6628
1234096	NOMESH NO NAME	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1242209	NARESH KUMAR	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1245963	NEMCHAND NO NAME	Male	M. A./Sociology/I	Fresh	10	100	1000	115	1855	1970	2970
1247137	NANDANI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1247764	NEERAJ KUMAR	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1292219	NIHARIKA SINHA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
320600	OKESHWARI NONAME	Female	M. A./Hindi/I	Fresh	10	100	1000	0	4613	4613	5613
938266	OMESHWARI PATEL	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1057414	OMPRAKASH SINGOUR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
329008	POOJA NONAME	Female	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
515510	PREETI NISAD	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
574930	POOJA NA	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
842704	PITAMBAR NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
870411	POOJA NO NAME	Female	PGDCA/Computer Application/I	Fresh	10	100	1000	0	8613	8613	9613
906504	PRATIMA KOSHE	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
917260	PRIYA VERMA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
919688	POOJA DHIWAR	Female	B. Com./Commerce/I	Fresh	10	85	850	0	1515	1515	2365
1006674	PREMANJALI SINHA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1016356	PALLAVI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1016995	PRANJAL SINHA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

state: Covernment of Crimatilegam

Sanction Number: N/6/4760/3/10/74482 Sanction Date: 06/01/2017

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1055159	PUSHPA NIRMALKAR	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1055807	PUSHPANJALI MANIKPURI	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1073110	POOJA SAHU	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1136364	PRIYA VERMA	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
1145055	PREETAM KUMAR	Male	PGDCA/Computer Application/I	Fresh	10	100	1000	115	8613	8728	9728
1223565	POOJA PATEL	Female	B. Com./Commerce/I	Fresh	9	85	765	0	1515	1515	2280
1259111	PURUSHOTTAM NISHAD	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1290009	PRADEEP NO NAME	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1290095	PAWAN KUMAR	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
1225675	PANCHU RAM	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
442363	RASHMI NONAME	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	5613	5613	6513
601097	RIMAN LAL SINHA	Male	PGDCA/Computer Application/I	Fresh	9	100	900	115	8613	8728	9628
824622	RADHIKA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
853622	ROSHAN LAL DEWANGAN	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
971662	RISHI KUMAR NONAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1184643	RITU SONKAR	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	5613	5613	6513

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1233923	RITU NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1245194	RITU SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1248711	RICHA SINHA	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1014575	RUMA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1057429	RAHUL KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1071063	RANU SONI	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1073500	RAHUL KUMAR SAHU	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1074135	ROSHAN KUMAR	Male	B. Com./Commerce/I	Fresh	10	70	700	115	1515	1630	2330
1232606	RENUKA VERMA	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
1234911	RUPRAM NO NAME	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
294304	SHWETA NO NAME	Female	M. A./Economics/I	Fresh	10	100	1000	0	4613	4613	5613
417326	SUMAN NO NAME	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855
442610	SANGITA NO NAME	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
538876	SHEELA YADAV	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
627294	SHAILENDRA NONAME	Male	M. Sc./Botany/I	Fresh	9	100	900	115	5613	5728	6628
845292	SUMAN NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
849130	SHAKUNTALA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
865013	SHAKUNTALA NISHAD	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
869882	SARSWATI NA	Female	M. A./Hindi/I	Fresh	10	100	1000	0	4613	4613	5613
1073448	SHWETA VERMA	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1225153	SHAILU VERMA	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
1237615	SARASWATI DEWANGAN	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1246500	SUMAN VERMA	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1271297	SUNIL KUMAR SAHU	Male	B. Sc./Science/I	Fresh	9	70	630	115	1545	1660	2290
1299276	SANJU NO NAME	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
1304978	SURAJ KUMAR	Male	B. Sc./Science/I	Fresh	10	70	700	115	1545	1660	2360
483729	SANDHYA NO NAME	Female	M. A./Hindi/I	Fresh	10	100	1000	0	4613	4613	5613
575072	SOMLATA NA	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855
884325	SONAM PATEL	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
928817	SANDEEP KUMAR NA	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
968810	SADHANA NONAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1023799	SUJEET KUMAR SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1102293	SONAM SAHU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280

Declaration:

Place : Date :

Name (Capital Leters):

(Signature & Seal of Head of the Institution)

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship

Category: OBC

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Academic Year: 2016 - 17

State: Government of Chhattisgarh

Sanction Date : 06/01/2017

Sanction Number: N/6/4760/3/10/74482

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1247540	SAGAR KUMAR	Male	M. A./Pol. Science/I	Fresh	10	100	1000	115	1855	1970	2970
1266249	SONALI NO NAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1016273	SANGEETA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1019693	SWATI NO NAME	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1079087	SEEMA NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1134405	SAROJ SINHA	Female	PGDCA/Computer Application/I	Fresh	9	100	900	0	8613	8613	9513
185078	THANESHWAR SAHU	Male	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
200636	TARNI SAHU	Female	M. Sc./Chemistry/I	Fresh	9	100	900	0	5613	5613	6513
327703	TEJASVI NONAME	Female	M. Sc./Chemistry/I	Fresh	10	100	1000	0	5613	5613	6613
514760	TOMESHWARI DEWANGAN	Female	M. A./Pol. Science/I	Fresh	9	100	900	0	1855	1855	2755
568377	TOMESH KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
633045	TARINEE NO NAME	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
672791	TUMESH KUMAR	Male	B. Com./Commerce/I	Fresh	9	70	630	115	1515	1630	2260
849015	TILESH KUMAR NO	Male	M. A./Economics/I	Fresh	9	100	900	115	4613	4728	5628
859863	TAMESHWARI PAL	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1010067	TOSHAN LAL NA	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1019114	TARANI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365

Declaration:

Place : Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1045638	TAMRADHWAJ SAHU	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
1102420	TULESHWARI SAHU	Female	B. Sc./Science/I	Fresh	9	85	765	0	1545	1545	2310
1246548	TEJESHWARI NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1247040	TRILOK KUMAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1247353	TILESHWARI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1023222	TOMESHWARI YADAV NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1096812	TEJPRAKASH NISHAD	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1136724	TANUJA DEWANGAN	Female	M. Sc./Botany/I	Fresh	10	100	1000	0	5613	5613	6613
1241048	TORAN LAL	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
358407	UTTAM KUMAR	Male	M. Sc./Chemistry/I	Fresh	9	100	900	115	5613	5728	6628
423654	Uma No sir name	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
1014724	URMILA NO NAME	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1019926	URVASHI NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1225319	UMASHANKAR KAHAR	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
104389	Varsha Deshmukh	Female	M. Sc./Chemistry/I	Fresh	10	100	1000	0	5613	5613	6613
545450	VED SAHU	Female	M. Sc./Botany/I	Fresh	9	100	900	0	5613	5613	6513
607308	VEDPRAKASH NONAME	Male	M. Sc./Botany/I	Fresh	9	100	900	115	5613	5728	6628
847415	VIKAS NA	Male	M. A./Pol. Science/I	Fresh	9	100	900	115	1855	1970	2870

Declaration:

Place :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
975990	Veena nosarname	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1019673	VEENU KASHYAP NO NAME	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1233602	VANDANA VERMA	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1247634	VIKASH SAHU	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1274942	VARSHA YADAV	Female	B. A./Arts/I	Fresh	10	85	850	0	1515	1515	2365
1283659	VARUNI YADU	Female	B. A./Arts/I	Fresh	9	85	765	0	1515	1515	2280
1123997	VIMAL KUMAR	Male	M. Sc./Chemistry/I	Fresh	10	100	1000	115	5613	5728	6728
1226751	VARSHA SAHU	Female	B. Sc./Science/I	Fresh	10	85	850	0	1545	1545	2395
1246898	VINAY KUMAR	Male	B. A./Arts/I	Fresh	10	70	700	115	1515	1630	2330
451754	YAMINEE SAHU	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855
494418	YAMINI - NONAME	Female	M. A./Pol. Science/I	Fresh	10	100	1000	0	1855	1855	2855
607942	YAMESH KUMAR	Male	M. Sc./Botany/I	Fresh	10	100	1000	115	5613	5728	6728
626681	YENEETA NONAME	Female	M. Sc./Zoology/I	Fresh	9	100	900	0	5613	5613	6513
1128955	YAMINI DEWANGAN	Female	M. Sc./Chemistry/I	Fresh	10	100	1000	0	5613	5613	6613
1136463	YAMINI YADAV	Female	M. A./Sociology/I	Fresh	10	100	1000	0	1855	1855	2855
1223488	YUVRAJ SINGH	Male	B. A./Arts/I	Fresh	9	70	630	115	1515	1630	2260
1252355	YUVRAJ NO NAME	Male	M. Sc./Botany/I	Fresh	9	100	900	115	5613	5728	6628
1252747	RUPESH KUMAR ADIL	Male	M. A./Sociology/I	Fresh	4	100	400	115	415	530	930

Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to I do here by sanctioning a sum of Rs.Out of which Rs...............as maintenance allowance and Rs.as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date:

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: N/6/4760/3/10/74482

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan

Sanction Date: 06/01/2017

Academic Year: 2016 - 17 Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1055875	YASHWANT KUMAR SINHA	Male	B. Com./Commerce/I	Fresh	6	70	420	115	415	530	950
						Total :	299190	16020	932077	948097	1247287

Declaration:

Place :

Date :

Government of Chhattisgarh



Scholarship Scheme: Post Matric OBC Scholarship State: Government of Chhattisgarh

Category: OBC Sanction Number: R/6/4760/3/10/78856

Institute Name: Govt Chandulal Chand. Arts Sci. Coll. Patan Sanction Date: 28/03/2017

Academic Year: 2016 - 17 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
347941	YOGESH KUMAR	Male	B. A./Arts/III	Renewal	9	85	765	115	1515	1630	2395
459091	SHARDA XXXXX	Female	B. A./Arts/III	Renewal	9	85	765	0	1515	1515	2280
489160	DEVWRAT SAHU	Male	B. A./Arts/III	Renewal	9	85	765	115	1515	1630	2395
492019	LAXMI SAHU	Female	B. A./Arts/III	Renewal	9	85	765	0	1515	1515	2280
753802	TUMMAN LAL NO NAME	Male	B. Com./Commerce/III	Renewal	9	85	765	115	1515	1630	2395
772374	KIRAN XXXXXXX	Female	B. A./Arts/III	Renewal	9	85	765	0	1515	1515	2280
897213	KAUSHILYA NA	Female	B. A./Arts/III	Renewal	9	85	765	0	1515	1515	2280
						Total :	5355	345	10605	10950	16305

Declaration:

Place : Date :